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X+y+2y=96. 3
X+3y=96. 3

—x+y=32.1
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Tax72%an 825mon djvide by three gives 24kan275mon,

Also, field area 9cho6tan3se djvide by three gives 3cho2tan]se,
Multiply this fieid are by tax 120men js 38kan52(Qmon,

Subtract 24kan275mon from this and there are 14%an245mon |eft,
This is number divided.

Next, multiply 60m°" by two and add 5mon,

Subtract this from 120m°n and 14kan245men divide 55mon |eft,
Medium area field area is 25%"9se,We can know other things

From this.
Top field area is X.medium field area is Y,bottom field area
Is Z.

Then, X+Y+Z2=96.3:--:(D
1.2X+0.75Y+0.6Z2=728.25:-:(2
Z=2Y-®
96,3+3=32,1
Substitute ®for(D. X+Y +2Y=96.3
X+3Y=96.3
X+Y=82.1
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~-1. 2X+1. 2Y=38.52=385.2mcn-..(9
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From@and®).
0.55Y=142.45
Y=25.9
Z=51.8
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Regret and issue

Regret is using a lot of time to understand this problem
and
lated finding answer.

Its cause is that we could not understand setting of
situation early.
So we want to arrangement situation and understand it.

Opinion

We found that also the past have debeloped as many as
the present.
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There are three field of top, medium, bottom. Totaling
every things comes to area 9¢° gt 3¢ Totaling tax
is 72kan  gp5mon,

And,bottom field area is twice medium field area . There are
120m°n per 1% in the top field area. There are 75 ™m°" per 1%@" in
the medium field area.There are 60™" per 1@" in the bottom
field area. How many area and tax each other.

Top field is 1¢ho 8tan gse gnd 22kan 32(Qmon,
Medium field is 1¢ho 5tangse gnd 19kan 4p5mon
Bottom field is 5¢ho 1tangse gnd 31kan gomon,

At first , devide tax by three, it is 28" 295m°" and devide are by
three, it is 3¢ho2tan 1se.  Tgke 24kan 275mon off 38kan GrQmon  gn(d
14kan 245mon can be devide number. Multiply 60™°" of bottom
field by two, and plus 75™°", and deride it by three, it is 65m°",
Take 65M°n off 120™M°", and devide 14kan 245mon hy 55mon Then

medium field area is 25%@" 9%, This is this question~ s answer.
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Edo culture:the way to gather tax of fields

Mr.Tokugawa did social system based on rice assessed tax and detection.
Then he made people who live in area that cannot grow rice pay tax.

However,he admited the way to annual land tax because it is very difficult and
famers have to pay a lot of tax .

By the way there are a lot of ways .For example,the way to decide animal land

tax

Per a field and multiply it by real area of field ,and so on.
http://www.nta.go.jp/ntc/sozei/quiz/1102/
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